1. Read the text. Complete the sentences below with a word or number.

............................ of Brits can’t name their neighbour.

A sense of community in their areaisonly felt by .........ccuueeeeennneee. of the Britons interviewed.

The number of subjects in the survey was ........ccceeevvveeieeeeeenennnn.

(0] 0] Y A of people would ask for help in case there is a problem with their cars.

The percentage of British people who never spoke to any of their neighbours is over ..........ccccuvuueenn.....

Lack of time to meet those in the community is the main cause of the ...................cc... in neighbourly relations.

2. Mark the sentences true (T) or false (F). Write NG (not given) if there is no information on this.

a)
b)
c)
d)
e)
f)

Women are worse than men when it comes to knowing the names of their neighbours. ..........
British people are barely friends with their neighbours. ..........

There is no difference between a “me society” and a “we community”. ..........

Only a minority perform random acts of kindness in today’s Britain. ..........

Margaret Thatcher said there is a strong sense of community in British society. ..........

The Kindness UK charity launched a competition to find random acts of kindness. ..........



